Kiz Mobility
2

CR45 Solid Seat Pan

=]
e
. =]
___.-"'-- l.!q.l L’____-"ﬁr
AT B |
o ~

Item Number Part Number  Description Quantity
1a, 2-10 121255 14W, Short, Solid Seat Pan Assembly Tilt 1
1b, 2-10 121256 15W, Short, Solid Seat Pan Assembly Tilt 1
1c, 2-10 121257 16W, Short, Solid Seat Pan Assembly Tilt 1
1d, 2-10 121258 17W, Short, Solid Seat Pan Assembly Tilt 1
le, 2-10 121259 18W, Short, Solid Seat Pan Assembly Tilt 1

08-06-2025




[tem Number  Part Number  Description Quantity

1f, 2-10 121260 19W, Short, Solid Seat Pan Assembly Tilt 1
19, 2-10 121261 20W, Short, Solid Seat Pan Assembly Tilt 1
1h, 2-10 121262 21W, Short, Solid Seat Pan Assembly Tilt 1
1i, 2-10 121263 22\W, Short, Solid Seat Pan Assembly Tilt 1
1j, 2-10 121264 14W, Medium, Solid Seat Pan Assembly Tilt 1
1k, 2-10 121265 15W, Medium, Solid Seat Pan Assembly Tilt 1
11, 2-10 121266 16W, Medium, Solid Seat Pan Assembly Tilt 1
1m, 2-10 121267 17W, Medium, Solid Seat Pan Assembly Tilt 1
1n, 2-10 121268 18W, Medium, Solid Seat Pan Assembly Tilt 1
lo, 2-10 121269 19W, Medium, Solid Seat Pan Assembly Tilt 1
1p, 2-10 121270 20W, Medium, Solid Seat Pan Assembly Tilt 1
1q, 2-10 121271 21W, Medium, Solid Seat Pan Assembly Tilt 1
1r, 2-10 121272 22W, Medium, Solid Seat Pan Assembly Tilt 1
1s, 2-10 121273 14W, Long, Solid Seat Pan Assembly Tilt 1
1t, 2-10 121274 15W, Long, Solid Seat Pan Assembly Tilt 1
1u, 2-10 121275 16W, Long, Solid Seat Pan Assembly Tilt 1
1lv, 2-10 121276 17W, Long, Solid Seat Pan Assembly Tilt 1
1w, 2-10 121277 18W, Long, Solid Seat Pan Assembly Tilt 1
1x, 2-10 121278 19W, Long, Solid Seat Pan Assembly Tilt 1
ly, 2-10 121279 20W, Long, Solid Seat Pan Assembly Tilt 1
1z, 2-10 121280 21W, Long, Solid Seat Pan Assembly Tilt 1
lab, 2-10 121281 22W, Long, Solid Seat Pan Assembly Tilt 1
3 116538 ggxgrsal Seat Pan Transit Bracket, Catalyst and 4
4 101708 M6 x 14 BTN SHCS BLKZC w/Patch 4
5 102803 Washer Flat .250 X .500 X .027 Hx Blz 4
6 100658 M6 Nylock Nut Blk Zn 4
7 121064 BHCS, M5x0.8x40 CLS 10.9 P/THD BLKZ 2
8 101856 Flat Washer, M5, Blk Zn 4

08-06-2025




[tem Number  Part Number  Description Quantity

9 103056 M5 Cap Nut Black Zinc 2

10 004458 AB Tape, 3" x 4" 2

08-06-2025




